Module 2 
Workbook

Lesson 3
1 Complete the table

   Adjective             Comparative          Superlative

   good                   __________           the best

   _____                 happier                   ________
   _____                 sunnier                   ________
   close                   _________            ________

   _____                  worse                    ________

   rainy                   ________              ________

   low                     ________              the lowest

   big                      ________              ________
   _____                 ________              the hottest
   _____                 drier                       ________

2 Complete these funny lines. Use the comparative or superlative of the adjectives in the box.
                      heavy         light         cheap      long          

  1 - What is _________ a full moon or a half moon?

     -  A half moon, because the full moon is_______.
  2 – What is the __________ way to go to Australia?

     -  Be born there.

  3 - What is the __________ night of the year?

     -  A fortnight.
3 Read these statements and decide whether they are true or false.

1 The Palace of Westminster is the largest palace in the United Kingdom.               
2 The City, colloquially called “The Square Mile” is the oldest and most historic part of London.
3 Norway is home to the coldest inhabited place on the planet. 
4 London ranked as the 1st most expensive city in which to live in 2016
5 The Great Wall of China is the biggest object ever made by humans.
6 Autumn is the windiest and driest time of the year in Beijing.
7 The River Neva flows through a territory that is as big as Italy
8 The Cathedral of Christ the Saviour in Moscow is the largest Orthodox Church in the world.
4 Test your green vocabulary. Find 10 words.
  FYBIODEGRADABLEKIOVY
  RKFDRECYCLEGFDANBKIK
  EGFJGYPOLLUTIONGSBVM
  UJUINRENEWABLE INGHFD
  SLOGMBNJUHREDUCEYHLV
  ELOJEMISSONSOFNJFITDNB
  JKKENERGYYGHJKBFDEWJ
  HFDSENVIRONMENTJGVTN 
  HDBVJIFHRENEWABLEUNJL  
5 Complete the second sentence so that it means the same as the first.

   The first sentence has been done for you.
  1 Pollution in Beijing is worse than in St Petersburg. 

     Pollution in St Petersburg is not as/so bad as in Beijing
2 The Neva is the widest and the deepest river in northwestern Russia.  
   There is no other river _________________  in northwestern Russia.

3 St Petersburg is the most elegant and impressive city in Europe.

   People say that there is no other city _____________ in Europe.

4 Living in a city is much more exciting than living in a town.
   Living in a town is ___________ living in a city.
5 People say that London is the friendliest city in Europe.

   People say that there is no other city___________ London in Europe.

6 Beijing is more populous than Moscow..

   Moscow is ___________Beijing.
